Welding
Surface Area Worksheet
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1. A metalworker welded a cylinder to a rectangular prism as shown in the figure. The cylinder
has a height of 4 centimeters and radius 2 centimeters. What is the surface area of the finished
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2. A tank has dimensions 48” long, 26” wide, and 32” tall. How many square feet of material are

necded for 10 of these tanks? If a stock piece of 16-gauge sheet metal is 4 feet wide by 8 feet
long, how many pleces are needed to complete the 10 tanks?
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3. There are eight 48" x 96” sheet of metal in supply. How many square feet of sheet metal is >
available? : ;
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4. A farmer stores grain in the silo shown below. The shape of the silo is a ¢ylinder with a radius
of 6 feet and a height of 19 feet. On top of the cylinder is a hemisphere (half of 2 sphere) that
also has a radius of 6 fect. 1f one gallon of paint covers 250 square feet, how many gallons of
paint will the farmer need to completely cover the outside of the silo (excluding the base)?
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5. Students in Mrs. Spain’s physics class are building a rocket for a national competition. The
main fuselage of the rocket is a cylinder with a diameter of 4.8 inches and a height of

14.9 inches. The nosccone of the rocket is a cone with a diameter of 4.8 inches, a height of

5.6 inches, and a slant height of approximatcly 6.1 inches as shown below. What is the surface
arca, in square inches, of the rocket including the base of the fuselage? Round your answer to the

nearest tenth. Show your work,
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6. An architect is designing a hall~spherical dome above a circular fountain and path. The
architect wants the dome to be only over the fountain and path. The total diameter of the fountain
with surrounding path is 45 feet.

a. What is the height of the cover? Explain.
b. What is the surface area of the cover? Show your work.
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7. Jessica is designing a cylindrical storage container for lawn chemicals. She first designed a

cylinder with radius 12 inches and height 16 inches.

a. What is the surface area of this container? Explain how you find the surface area.

b. Jessica is considering changing the container by doubling either the radius or the height of the
container. Will doubling the radius of the original container or doubling the height of the
original container cause the greater percent of increase in surface area from the original?
Explain your method for answering this question.
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8. A rectangular prism has a surface area of 40 in.”. If all of the dimensions of the prism are
tripled, what is the surface area of the larger prism?
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9. Find the surface area of the space figure represented by the net.
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10. Calculate the surface area of the right triangular prism.
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